
Sun Microsystems, Inc.
www.sun.com

Submit comments about this document at: http://www.sun.com/hwdocs/feedback

Brocade SilkWorm 3200, 3250,
3800, 3850, and 3900 Switches and

12000 and 24000 Directors
Rackmounting Guide

For Mounting in Sun Equipment Racks

Part No. 817-0066-15
October 2004, Revision A



Please
Recycle

Copyright 2004 Sun Microsystems, Inc., 4150 Network Circle, Santa Clara, California 95054, U.S.A. All rights reserved.

Sun Microsystems, Inc. has intellectual property rights relating to technology that is described in this document. In particular, and without
limitation, these intellectual property rights may include one or more of the U.S. patents listed at http://www.sun.com/patents and one or
more additional patents or pending patent applications in the U.S. and in other countries.

This document and the product to which it pertains are distributed under licenses restricting their use, copying, distribution, and
decompilation. No part of the product or of this document may be reproduced in any form by any means without prior written authorization of
Sun and its licensors, if any.

Third-party software, including font technology, is copyrighted and licensed from Sun suppliers.

Parts of the product may be derived from Berkeley BSD systems, licensed from the University of California. UNIX is a registered trademark in
the U.S. and in other countries, exclusively licensed through X/Open Company, Ltd.

Sun, Sun Microsystems, the Sun logo, AnswerBook2, docs.sun.com, Sun StorEdge, Sun Fire, and Solaris are trademarks or registered
trademarks of Sun Microsystems, Inc. in the U.S. and in other countries.

All SPARC trademarks are used under license and are trademarks or registered trademarks of SPARC International, Inc. in the U.S. and in other
countries. Products bearing SPARC trademarks are based upon an architecture developed by Sun Microsystems, Inc.

The OPEN LOOK and Sun™ Graphical User Interface was developed by Sun Microsystems, Inc. for its users and licensees. Sun acknowledges
the pioneering efforts of Xerox in researching and developing the concept of visual or graphical user interfaces for the computer industry. Sun
holds a non-exclusive license from Xerox to the Xerox Graphical User Interface, which license also covers Sun’s licensees who implement OPEN
LOOK GUIs and otherwise comply with Sun’s written license agreements.

U.S. Government Rights—Commercial use. Government users are subject to the Sun Microsystems, Inc. standard license agreement and
applicable provisions of the FAR and its supplements.

DOCUMENTATION IS PROVIDED "AS IS" AND ALL EXPRESS OR IMPLIED CONDITIONS, REPRESENTATIONS AND WARRANTIES,
INCLUDING ANY IMPLIED WARRANTY OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE OR NON-INFRINGEMENT,
ARE DISCLAIMED, EXCEPT TO THE EXTENT THAT SUCH DISCLAIMERS ARE HELD TO BE LEGALLY INVALID.

Copyright 2004 Sun Microsystems, Inc., 4150 Network Circle, Santa Clara, Californie 95054, Etats-Unis. Tous droits réservés.

Sun Microsystems, Inc. a les droits de propriété intellectuels relatants à la technologie qui est décrit dans ce document. En particulier, et sans la
limitation, ces droits de propriété intellectuels peuvent inclure un ou plus des brevets américains énumérés à http://www.sun.com/patents et
un ou les brevets plus supplémentaires ou les applications de brevet en attente dans les Etats-Unis et dans les autres pays.

Ce produit ou document est protégé par un copyright et distribué avec des licences qui en restreignent l’utilisation, la copie, la distribution, et la
décompilation. Aucune partie de ce produit ou document ne peut être reproduite sous aucune forme, par quelque moyen que ce soit, sans
l’autorisation préalable et écrite de Sun et de ses bailleurs de licence, s’il y en a.

Le logiciel détenu par des tiers, et qui comprend la technologie relative aux polices de caractères, est protégé par un copyright et licencié par des
fournisseurs de Sun.

Des parties de ce produit pourront être dérivées des systèmes Berkeley BSD licenciés par l’Université de Californie. UNIX est une marque
déposée aux Etats-Unis et dans d’autres pays et licenciée exclusivement par X/Open Company, Ltd.

Sun, Sun Microsystems, le logo Sun, AnswerBook2, docs.sun.com, Sun StorEdge, Sun Fire, et Solaris sont des marques de fabrique ou des
marques déposées de Sun Microsystems, Inc. aux Etats-Unis et dans d’autres pays.

Toutes les marques SPARC sont utilisées sous licence et sont des marques de fabrique ou des marques déposées de SPARC International, Inc.
aux Etats-Unis et dans d’autres pays. Les produits portant les marques SPARC sont basés sur une architecture développée par Sun
Microsystems, Inc.

L’interface d’utilisation graphique OPEN LOOK et Sun™ a été développée par Sun Microsystems, Inc. pour ses utilisateurs et licenciés. Sun
reconnaît les efforts de pionniers de Xerox pour la recherche et le développement du concept des interfaces d’utilisation visuelle ou graphique
pour l’industrie de l’informatique. Sun détient une license non exclusive de Xerox sur l’interface d’utilisation graphique Xerox, cette licence
couvrant également les licenciées de Sun qui mettent en place l’interface d ’utilisation graphique OPEN LOOK et qui en outre se conforment aux
licences écrites de Sun.

LA DOCUMENTATION EST FOURNIE "EN L’ÉTAT" ET TOUTES AUTRES CONDITIONS, DECLARATIONS ET GARANTIES EXPRESSES
OU TACITES SONT FORMELLEMENT EXCLUES, DANS LA MESURE AUTORISEE PAR LA LOI APPLICABLE, Y COMPRIS NOTAMMENT
TOUTE GARANTIE IMPLICITE RELATIVE A LA QUALITE MARCHANDE, A L’APTITUDE A UNE UTILISATION PARTICULIERE OU A
L’ABSENCE DE CONTREFAÇON.



Contents

Preface vii

1. Rackmounting the Brocade SilkWorm 3200, 3250, and 3850 Switches 1

Installing the Rails 1

Installing the Brocade SilkWorm 3200, 3250, and 3850 Switches 6

2. Rackmounting the Brocade SilkWorm 3800 Switch 9

Installing the Rails 9

Installing the Brocade Silkworm 3800 Switch 13

3. Rackmounting the Brocade SilkWorm 3900 Switch 15

Installing the Rails 15

Installing the Brocade SilkWorm 3900 Switch 20

4. Rackmounting the Brocade SilkWorm 12000 and 24000 Directors 23

Rackmounting in the Sun Rack 900/1000 24

Installing the Rails 24

Installing the Brocade SilkWorm 12000/24000 Director 28

Rackmounting in the Sun StorEdge 72-Inch Expansion Cabinet and the Sun Fire
Cabinet 34

Installing the Rails 34

Installing the Brocade SilkWorm 12000/24000 Director 39
iii



iv Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Figures

FIGURE 1-1 Brocade SilkWorm 3200, 3250, and 3850 Switch Inner Slide Rail Installation 3

FIGURE 1-2 Brocade SilkWorm 3200, 3250, and 3850 Switch and Outer Slide Rail Installation 5

FIGURE 2-1 Brocade SilkWorm 3800 Switch Inner Slide Rail Installation 11

FIGURE 2-2 Brocade Silkworm 3800 Switch and Outer Slide Rail Installation 12

FIGURE 3-1 1.5 RU Switch Installed With the Additional 0.5 RU Above the L-Brackets 16

FIGURE 3-2 Installing the Inner Rail (Shown With Optional Lower Set of Holes) 17

FIGURE 3-3 Brocade SilkWorm 3900 Switch and Outer Slide Rail Installation 18

FIGURE 4-1 Mounting Rail Assembly (One of Two) for Sun Rack 900/1000 24

FIGURE 4-2 Attaching the Mounting Rail Flange to the Cabinet 25

FIGURE 4-3 Attaching the Mounting Rail Bracket Flange to the Cabinet 26

FIGURE 4-4 Securing the Mounting Rail to the Mounting Rail Bracket (One of Two) 27

FIGURE 4-5 Removing the Front Door of the Director 28

FIGURE 4-6 Use Four People to Help the Director on the Hand Truck 29

FIGURE 4-7 Ready to Install the Director into the Sun Rack 900/1000 30

FIGURE 4-8 Installing the Director into the Sun Rack 900/1000 31

FIGURE 4-9 Securing the Director to the Sun Rack 900/1000 32

FIGURE 4-10 Attaching the Power Cords to the Brocade SilkWorm 12000/24000 Director 33

FIGURE 4-11 Mounting Rail Assembly (One of Two) for Sun StorEdge 72-Inch Expansion Cabinet and Sun
Fire Cabinet 35

FIGURE 4-12 Installing Two Screws Before Installing the Mounting Rail 36

FIGURE 4-13 Positioning the Mounting Rail (One of Two) in the Cabinet 37
v



FIGURE 4-14 Attaching the Mounting Rail Flange (One of Two) to the Cabinet 38

FIGURE 4-15 Removing the Front Door of the Director 39

FIGURE 4-16 Use Four People to Help the Director on the Hand Truck 40

FIGURE 4-17 Ready to Install the Director into the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire
Cabinet 41

FIGURE 4-18 Installing the Director into the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire
Cabinet 42

FIGURE 4-19 Securing the Director to the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire
Cabinet 43

FIGURE 4-20 Attaching the Power Cords to the Brocadc SilkWorm 12000/24000 Director 44
vi Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Preface

This manual describes how to install the following:

■ Brocade SilkWorm 3200, 3250, 3800, 3850, and 3900 switches in a Sun StorEdge™
72-inch Expansion Cabinet and a Sun™ Rack 900/1000 equipment rack

■ Brocade SilkWorm 12000 and 24000 directors in a Sun StorEdge 72-inch Expansion
Cabinet

A rackmounting kit comes bundled with the 3800 and 3900 switches and the 12000
and 24000 directors. You must order a separate rackmounting kit for the following
switches:

■ Brocade SilkWorm 3200—SG-XSWBRO3200-RK

■ Brocade SilkWorm 3250 and 3850—SG-XSWBRO3X50-RK

This manual provides procedures that meet the air flow requirements and other
criteria of Sun Microsystems for rackmounted systems.

How This Book Is Organized
Chapter 1 describes how to install the Brocade SilkWorm 3200, 3250, and 3850
switches in a Sun StorEdge 72-inch Expansion Cabinet and a Sun Rack 900/1000
equipment rack.

Chapter 2 describes how to install the Brocade SilkWorm 3800 switch in a Sun
StorEdge 72-inch Expansion Cabinet and a Sun Rack 900/1000 equipment rack.

Chapter 3 describes how to install the Brocade SilkWorm 3900 switch in a Sun
StorEdge 72-inch Expansion Cabinet and a Sun Rack 900/1000 equipment rack.
vii



Chapter 4 describes how to install the Brocade SilkWorm 12000 and 24000 directors
in a Sun Rack 900/1000, Sun StorEdge 72-inch Expansion Cabinet, and Sun Fire™
cabinet.

Using UNIX Commands
This document might not contain information on basic UNIX® commands and
procedures such as shutting down the system, booting the system, and configuring
devices. Refer to the following for this information:

■ Software documentation that you received with your system

■ Solaris™ Operating System documentation, which is at

http://docs.sun.com

Shell Prompts

Shell Prompt

C shell machine-name%

C shell superuser machine-name#

Bourne shell and Korn shell $

Bourne shell and Korn shell superuser #
viii Brocade Silkworm 3200, 3250, 3800, 3850, and 3900 Switches and 12000, and 24000 Directors Rackmounting Guide,



Typographic Conventions

Typeface*

* The settings on your browser might differ from these settings.

Meaning Examples

AaBbCc123 The names of commands, files,
and directories; on-screen
computer output

Edit your.login file.
Use ls -a to list all files.
% You have mail.

AaBbCc123 What you type, when contrasted
with on-screen computer output

% su

Password:

AaBbCc123 Book titles, new words or terms,
words to be emphasized.
Replace command-line variables
with real names or values.

Read Chapter 6 in the User’s Guide.
These are called class options.
You must be superuser to do this.
To delete a file, type rm filename.
Preface ix



Related Documentation

Application Title Part Number

SAN installation Sun StorEdge SAN Foundation Installation Guide 817-3671

SAN
configuration

Sun StorEdge SAN Foundation Configuration Guide 817-3672

Switch
information

Brocade SilkWorm 3200 QuickStart Guide 53-0001620 *

Brocade SilkWorm 3200 Hardware Reference Manual 53-0001619 *

* This document is available on the Brocade Documentation CD that comes with the product, or from your Sun
Service Representative.

Brocade SilkWorm 3250/3850 QuickStart Guide 53-0000624 *

Brocade SilkWorm 3250/3850 Hardware Reference
Manual

53-0000623 *

Brocade SilkWorm 3800 QuickStart Guide 53-0001577 *

Brocade SilkWorm 3800 Hardware Reference Manual 53-0001576 *

Brocade SilkWorm 3900 QuickStart Guide 53-0001596 *

Brocade SilkWorm 3900 Hardware Reference Manual 53-0001595 *

Brocade SilkWorm 12000 QuickStart Guide 53-0000152 *

Brocade SilkWorm 12000 Hardware Reference Manual 53-0000148 *

Brocade SilkWorm 24000 QuickStart Guide 53-0000620 *

Brocade SilkWorm 24000 Hardware Reference Manual 53-0000619 *

Brocade Fabric OS Procedures Guide, Version 3.1.0 53-0000501 *

Switch
configuration and
management in a
SAN

Brocade Fabric OS Procedures Guide, Supporting Fabric
OS v4.2.0, Supporting SilkWorm 24000, 12000, 3900,
3850, and 3250

53-0000518 *

Brocade Slide Rack Mount Kit Installation Procedure 53-0001625 *

Latest switch
information

Sun StorEdge Network 2 Gb Brocade SilkWorm 3200,
3800, and 12000 Core Fabric Switch Release Notes

817-0771
x Brocade Silkworm 3200, 3250, 3800, 3850, and 3900 Switches and 12000, and 24000 Directors Rackmounting Guide,



Accessing Sun Documentation
You can view, print, or purchase a broad selection of Sun documentation, including
localized versions, at:

http://www.sun.com/documentation

Third-Party Web Sites
Sun is not responsible for the availability of third-party web sites mentioned in this
document. Sun does not endorse and is not responsible or liable for any content,
advertising, products, or other materials that are available on or through such sites
or resources. Sun will not be responsible or liable for any actual or alleged damage
or loss caused by or in connection with the use of or reliance on any such content,
goods, or services that are available on or through such sites or resources.

Contacting Sun Technical Support
If you have technical questions about this product that are not answered in this
document, go to:

http://www.sun.com/service/contacting
Preface xi



Sun Welcomes Your Comments
Sun is interested in improving its documentation and welcomes your comments and
suggestions. You can submit your comments by going to:

http://www.sun.com/hwdocs/feedback

Please include the title and part number of your document with your feedback:

Brocade Silkworm 3200, 3250, 3800, 3850, and 3900 Switches and 12000, and 24000
Directors Rackmounting Guide, For Mounting in Sun Equipment Racks, part number
817-0066-15
xii Brocade Silkworm 3200, 3250, 3800, 3850, and 3900 Switches and 12000, and 24000 Directors Rackmounting Guide,



CHAPTER 1

Rackmounting the Brocade
SilkWorm 3200, 3250, and 3850
Switches

The Brocade SilkWorm 3200, 3250, and 3850 switches require that the slide rails be
mounted into a Sun StorEdge 72-inch Expansion Cabinet or a Sun Rack 900/1000
equipment rack before installing the switches. You must order the SG-XSWBRO3200-
RK or SG-XSWBRO3X50-RK rackmounting kit separately for these switches.

The 3200, 3250, and 3850 switches are 1 RU (rack unit) in height.

This chapter contains the following sections:

■ “Installing the Rails” on page 1

■ “Installing the Brocade SilkWorm 3200, 3250, and 3850 Switches” on page 6

Note – Some hardware in the rackmounting kit parts list might not be used in this
installation.

Installing the Rails
1. Separate the inner and outer slide rails for both slide assemblies by performing

the following steps.

a. Pull the inner slide rail out until the lock engages.

b. Depress the lock release lever that is located inside the inner slide rail, and pull
the inner slide rail out of the outer slide rail.

c. Repeat Steps a and b with the second slide assembly.
1



2. Install the rackmount brackets on the inner slide rail by performing the following
steps.

These rackmount brackets prevent the switches from sliding all the way out of the
rack in the event the rack is accidentally moved.

Note – To meet air flow requirements, the 3200, 3250, and 3850 switches are
mounted with their port sides facing the back of the cabinet (rack).

a. Position a rackmount bracket at the end of one of the inner slide rails (the end
that does not contain the lock release lever), as shown in FIGURE 1-1.

b. Attach the rackmount bracket to the slide rail using two of the slotted head
8-32 x 3/8-inch screws, with a lock nut on the end of each screw.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

d. Repeat Steps a through c with the second inner slide rail.

3. Attach two of the three-hole slide mount L-brackets to each outer slide rail.

a. See FIGURE 1-2. Use two of the slotted head 8-32 x 3/8-inch screws per L-bracket,
with the screw heads on the inside of the slide rails and a lock nut on the end
of each screw.

b. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

4. Install the inner slide rails to the 3200, 3250, or 3850 switch chassis by performing
the following steps.

a. Position one of the inner slide rails with the flat side against the switch.

To allow the fan side of the switch to slide out the front of the rack, orient the rail
as shown in FIGURE 1-1, with the end containing the lock release lever towards the
port side of the switch.

b. Attach the rail to the 3200, 3250, or 3850 switch by using two of the Phillips 8-32
x 3/16-inch screws. See FIGURE 1-1.

Caution – Using screws longer than 3/16-inch on the 3200, 3250, and 3850 switch
chassis can damage the switch.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

d. Repeat Steps a and b with the second inner slide rail on the other side of the
3200, 3250, or 3850 switch.
2 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 1-1 Brocade SilkWorm 3200, 3250, and 3850 Switch Inner Slide Rail Installation

Phillips 8-32 x 3/16-in. screws

Inner slide rail

Rackmount bracket

Slotted
head
8-32 x 3/8-in.
screws

The Brocade 3850 has an AC receptacle here; the 3250 does not.

Brocade 3250 and 3850

Brocade 3200

Front of cabinet (r
ack)

Port s
ide of th

e sw
itches

Lock release lever
Chapter 1 Rackmounting the Brocade SilkWorm 3200, 3250, and 3850 Switches 3



5. Install the outer slide rails in the rack by performing the following steps.

a. Loosen the screws of both of the three-hole slide mount L-brackets on one of
the outer slide rails.

b. Position the outer slide rail in the rack and adjust the L-brackets to
accommodate the depth of the cabinet. Refer to FIGURE 1-2.

To allow the 3200, 3250, or 3850 switch to slide out the front of the rack, orient the
rail as shown in FIGURE 1-2, with the closed end of the slide rail towards the back
of the rack.

Note – For racks with a depth greater than 31.50 inches (80 cm), the rear L-brackets
must be replaced with the 11-inch (27.9 cm) L-bracket. Adjust the length as required.

c. Re-tighten the screws.

d. Attach the L-bracket on the front end of the outer slide rail to the
corresponding rack vertical rail, using two of the Phillips 10-32 x 3/8-inch
screws. See FIGURE 1-2.

e. Tighten the screws to a torque of 25 inch-pounds (28.8 cm-kgs).

f. Repeat Steps d and e with the bracket on the back end of the same outer slide
rail.

The bracket position can be adjusted to fit the rack. The back end uses three
screws.

g. Repeat Steps a through f with the second outer slide rail.
4 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 1-2 Brocade SilkWorm 3200, 3250, and 3850 Switch and Outer Slide Rail Installation

Front of ra
ck

Phillips 10-32 x 3/8-in. screw

Inner slide rail

Outer slide rail

Three-hole

Rackmount bracket

Three-hole extension slide mount L-brackets

slide mount
L-bracket

Power cord clip

extension
Chapter 1 Rackmounting the Brocade SilkWorm 3200, 3250, and 3850 Switches 5



Installing the Brocade SilkWorm 3200,
3250, and 3850 Switches

1. Install the 3200, 3250, or 3850 switch in the rack by performing the following
steps.

a. Position the switch next to the rack as shown in FIGURE 1-2, and insert the inner
slide rails into the outer slide rails.

b. Slide the switch into the rack.

Note – A screwdriver might be needed to depress the slide lock on the side of the
slide rail when inserting or removing the switch from the rack.

c. Check the alignment by sliding the switch in and out of the rack.

If there is any difficulty, pull the switch out of the rack and realign the slide rails.

2. Attach the rackmount brackets to the vertical rack rails using one Phillips 10-32 x
3/8-inch screw per bracket, tightening the screws to a torque of 25 inch-pounds
(28.8 cm-kgs). See FIGURE 1-2.

3. (Optional) Provide power to the 3200, 3250, or 3850 switch by performing the
following steps.

a. Place the power cord clips on the outer slide rails. See FIGURE 1-2.

The clips can be positioned with the tabs above or below the rail.

Note – The 3200 and 3250 switches have only one power cord.

b. Insert each power cord into a power cord clip with a minimum service loop of
six inches at the switch to ensure freedom to plug and unplug the power cord.

Caution – Do not plug a power cord into the power source or into the switch power
supply until the switch is completely installed in the rack.

Ensure all cables and cords are routed so that they will not be exposed to stress
when the switch is moved on the slide rails.

c. Connect the power cords to the 3200, 3250, or 3850 switch and to a power outlet.
6 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Note – Always unplug each power cord from the 3200, 3250, or 3850 switch before
moving it on the slide rails to prevent the cord from being pulled out of the power
cord clips.

Refer to the following for important information on setting up the switches:

■ Brocade SilkWorm 3200 switch

■ Brocade Fabric OS Procedures Guide Version 3.1.0, 53-0000501

■ Brocade SilkWorm 3200 QuickStart Guide, 53-0001620

■ Brocade SilkWorm 3200 Hardware Reference Manual, 53-0001619

■ Brocade SilkWorm 3250 and 3850 switches

■ Brocade Fabric OS Procedures Guide, Supporting Fabric OS v4.2.0, Supporting
SilkWorm 24000, 12000, 3900, 3850, and 3250, 53-0000518

■ Brocade SilkWorm 3250/3850 QuickStart Guide, 53-0000624

■ Brocade SilkWorm 3250/3850 Hardware Reference Manual, 53-0000623

Caution – Do not connect the 3200, 3250, or 3850 switch to the network until the IP
addresses are correctly set.
Chapter 1 Rackmounting the Brocade SilkWorm 3200, 3250, and 3850 Switches 7



8 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



CHAPTER 2

Rackmounting the Brocade
SilkWorm 3800 Switch

The Brocade SilkWorm 3800 switch requires that the rails be mounted into a Sun
StorEdge 72-inch Expansion Cabinet or a Sun Rack 900/1000 equipment rack before
installing the switch. Each 3800 switch comes with a rackmounting kit.

The 3800 switch is 1 RU (rack unit) in height.

This chapter contains the following sections:

■ “Installing the Rails” on page 9

■ “Installing the Brocade Silkworm 3800 Switch” on page 13

Note – Some hardware in the rackmounting kit parts list might not be used in this
installation.

Installing the Rails
1. Separate the inner and outer slide rails for both slide assemblies by performing

the following steps.

a. Pull the inner slide rail out until the lock engages.

b. Depress the lock release lever that is located inside the inner slide rail, and pull
the inner slide rail out of the outer slide rail.

c. Repeat Steps a and b with the second slide assembly.
9



2. Install the rackmount brackets on the inner slide rail by performing the following
steps.

These rackmount brackets prevent the switch from sliding all the way out of the rack
in the event the rack is accidentally moved.

Note – To meet air flow requirements, the 3800 switch is mounted with the port side
facing the back of the cabinet (rack).

a. Position a rackmount bracket at the end of one of the inner slide rails (the end
that does not contain the lock release lever), as shown in FIGURE 2-1.

b. Attach the rackmount bracket to the slide rail using two of the slotted head
8-32 x 3/8-inch screws, with a lock nut on the end of each screw.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

d. Repeat Steps a through c with the second inner slide rail.

3. Attach two of the three-hole extension slide mount L-brackets to each outer slide
rail.

a. See FIGURE 2-2. Use two of the slotted head 8-32 x 3/8-inch screws per L-bracket,
with the screw heads on the inside of the slide rails and a lock nut on the end
of each screw.

b. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

4. Install the inner slide rails to the 3800 switch chassis by performing the following
steps.

a. Position one of the inner slide rails with the flat side against the 3800 switch.

To allow the power supply side of the 3800 switch to slide out the front of the
rack, orient the rail as shown in FIGURE 2-1, with the end containing the lock
release lever towards the port side of the 3800 switch.

b. Attach the rail to the 3800 switch by using the Phillips 8-32 x 3/16-inch screws.

Caution – Using screws longer than 3/16-inch on the 3800 switch chassis can
damage the 3800 switch.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

d. Repeat Steps a and b with the second inner slide rail on the other side of the
3800 switch.
10 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 2-1 Brocade SilkWorm 3800 Switch Inner Slide Rail Installation

5. Install the outer slide rails in the rack by performing the following steps.

a. Loosen the screws of both of the three-hole extension slide mount L-brackets
on one of the outer slide rails.

b. Position the outer slide rail in the rack and adjust the L-brackets to
accommodate the depth of the cabinet. Refer to FIGURE 2-2.

To allow the 3800 switch to slide out the front of the rack, orient the rail as shown
in FIGURE 2-2, with the closed end of the slide rail towards the back of the rack.

Note – For racks with a depth greater than 31.50 inches (80 cm), the rear L-brackets
must be replaced with the 11-inch (27.9 cm) L-bracket. Adjust the length as required.

c. Re-tighten the screws.

d. Attach the L-bracket on the front end of the outer slide rail to the
corresponding rack vertical rail, using two of the Phillips 10-32 x 3/8-inch
screws. See FIGURE 2-2.

Phillips 8-32 x 3/16-in. screws

Slotted
head
8-32 x 3/8-in.
screws

Inner slide rail

Rackmount bracket

Lock release lever

Front of cabinet (r
ack)

Port s
ide of th

e sw
itch
Chapter 2 Rackmounting the Brocade SilkWorm 3800 Switch 11



e. Tighten the screws to a torque of 25 inch-pounds (28.8 cm-kgs).

f. Repeat Steps d and e with the bracket on the back end of the same outer slide
rail.

The bracket position can be adjusted to fit the rack. The back end uses three
screws.

g. Repeat Steps a through f with the second outer slide rail.

FIGURE 2-2 Brocade Silkworm 3800 Switch and Outer Slide Rail Installation

IOIOI

IP

Three-hole extension slide mount L-brackets

Front of ra
ck

Inner slide rail

Outer slide rail

Phillips 10-32 x 3/8-in. screw

Rackmount bracket

Power cord clip

Three-hole

slide mount
L-bracket

extension
12 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Installing the Brocade Silkworm 3800
Switch

1. Install the 3800 switch in the rack by performing the following steps.

a. Position the 3800 switch next to the rack as shown in FIGURE 2-2, and insert the
inner slide rails into the outer slide rails.

b. Slide the 3800 switch into the rack.

Note – A screwdriver might be needed to depress the slide lock on the side of the
slide rail when inserting or removing the 3800 switch from the rack.

c. Check the alignment by sliding the switch in and out of the rack.

If there is any difficulty, pull the switch out of the rack and realign the slide rails.

2. Attach the rackmount brackets to the vertical rack rails using one Phillips 10-32 x
3/8-inch screw per bracket, tightening the screws to a torque of 25 inch-pounds
(28.8 cm-kgs). See FIGURE 2-2.

3. (Optional) Provide power to the 3800 switch by performing the following steps.

a. Place the power cord clips on the outer slide rails. See FIGURE 2-2.

The clips can be positioned with the tabs above or below the rail.

b. Insert the power cords into the power cord clips with a minimum service loop
of six inches at the switch to ensure freedom to plug and unplug the power
cord.

Caution – Do not plug a power cord into the power source or into the switch power
supply until the switch is completely installed in the rack.

Ensure all cables and cords are routed so that they will not be exposed to stress
when the switch is moved on the slide rails.

c. Connect the power cords to the 3800 switch and to a power outlet.

Note – Always unplug the power cords from the 3800 switch before moving it on
the slide rails to prevent the cords from being pulled out of the power cord clips.
Chapter 2 Rackmounting the Brocade SilkWorm 3800 Switch 13



d. Flip the 3800 switch AC power switches to “I”.

Refer to the following for important information on setting up the switch:

■ Brocade Fabric OS Procedures Guide Version 3.1.0, 53-0000501

■ Brocade SilkWorm 3800 QuickStart Guide, 53-0001577

■ Brocade SilkWorm 3800 Hardware Reference Manual, 53-0001576

Caution – Do not connect the 3200, 3250, or 3850 switch to the network until the IP
addresses are correctly set.
14 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



CHAPTER 3

Rackmounting the Brocade
SilkWorm 3900 Switch

The Brocade SilkWorm 3900 switch requires that the rails be mounted into a Sun
StorEdge 72-inch Expansion Cabinet or a Sun Rack 900/1000 equipment rack before
installing the switch. Each 3900 switch comes with a rackmounting kit.

The 3900 switch is 1.5 RU (rack unit) in height.

This chapter contains the following sections:

■ “Installing the Rails” on page 15

■ “Installing the Brocade SilkWorm 3900 Switch” on page 20

Note – Some hardware in the rackmounting kit parts list might not be used in this
installation.

Installing the Rails
1. Separate the inner and outer slide rails for both slide assemblies by performing

the following steps.

a. Pull the inner slide rail out until the lock engages.

b. Depress the lock release lever that is located inside the inner slide rail, and pull
the inner slide rail out of the outer slide rail.

c. Repeat Steps a and b with the second slide assembly.
15



2. Determine the vertical positioning of the switch in the cabinet prior to installing
the inner slide rails on the 3900 switch chassis (FIGURE 3-1).

■ To install the switch so that the additional 0.5 RU is above the slide rail, install the
inner slide rail in the lower row of holes on the switch. See FIGURE 3-2.

■ To install the switch so that the bulk of the switch is below the slide rail, install
the inner slide rail in the upper row of holes on the switch. See FIGURE 3-2.

FIGURE 3-1 1.5 RU Switch Installed With the Additional 0.5 RU Above the L-Brackets

3. Install the inner slide rails to the 3900 switch chassis by performing the following
steps.

a. Position one of the inner slide rails with the flat side against the 3900 switch.

To allow the power supply side of the 3900 switch to slide out the front of the
rack, orient the rail as shown in FIGURE 3-2, with the end containing the lock
release lever towards the port side of the 3900 switch.

b. Attach the rail using the Phillips 8-32 x 3/16-inch screws.

Caution – Using screws longer than 3/16-inch on the 3900 switch chassis can
damage the 3900 switch.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

d. Repeat Steps a and b with the second inner slide rail on the other side of the
3900 switch.
16 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 3-2 Installing the Inner Rail (Shown With Optional Lower Set of Holes)

4. Install the rackmount brackets on the inner slide rail by performing the following
steps.

These rackmount brackets prevent the switch from sliding all the way out of the rack
in the event the rack is accidentally moved.

Note – To meet air flow requirements, the 3900 switch is mounted with the port side
facing the back of the cabinet (rack).

a. Position a rackmount bracket at the end of one of the inner slide rails (the end
that does not contain the lock release lever), as shown in FIGURE 3-2.

b. Attach the rackmount bracket to the slide rail using two of the slotted head
8-32 x 3/8-inch screws with a lock nut on the end of each screw.

c. Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

29

15

IP

Front of cabinet (r
ack)

Lock release lever

Inner slide rail

Phillips 8-32 x 3/16-in. screws

Rackmount bracket

Slotted
head
8-32 x 3/8-in.
screws

Port s
ide of th

e sw
itch
Chapter 3 Rackmounting the Brocade SilkWorm 3900 Switch 17



d. Repeat Steps a through c with the second inner slide rail.

FIGURE 3-3 Brocade SilkWorm 3900 Switch and Outer Slide Rail Installation

8

9

10

11

0

1

2

3

23

22

21

20

30

29

28

12

13

14

15

4

5

6

7

19

18

17

16

27

26

25

24

IOIOI

IP

Phillips 10-32 x 3/8-in. screw

Rackmount bracket

Front of ra
ck

Inner slide rail

Outer slide rail

Three-hole slide mount L-brackets

Power cord clip

Three-hole

slide mount
L-bracket

extension
18 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



5. Attach two of the three-hole extension slide mount L-brackets to each outer slide
rail. See FIGURE 3-3. Use two of the slotted head 8-32 x 3/8-inch screws per L-
bracket, with the screw heads on the inside of the slide rails and a lock nut on the
end of each screw.

Tighten the screws to a torque of 15 inch-pounds (17.3 cm-kgs).

6. Install the outer slide rails in the rack by performing the following steps.

a. Loosen the screws of both of the three-hole extension slide mount L-brackets
on one of the outer slide rails.

b. Position the outer slide rail in the rack and adjust the L-brackets to
accommodate the depth of the cabinet. Refer to FIGURE 3-3.

To allow the 3800, switch to slide out the front of the rack, orient the rail as shown
in FIGURE 3-3, with the closed end of the slide rail towards the back of the rack.

Note – For racks with a depth greater than 31.50 inches (80 cm), the rear L-brackets
must be replaced with the 11-inch (27.9 cm) L-bracket. Adjust the length as required.

c. Re-tighten the screws.

d. Attach the L-bracket on the front end of the outer slide rail to the
corresponding rack vertical rail, using two of the Phillips 10-32 x 3/8-inch
screws. See FIGURE 3-3.

e. Tighten the screws to a torque of 25 inch-pounds (28.8 cm-kgs).

f. Repeat Steps d and e with the bracket on the back end of the same outer slide
rail.

The bracket position can be adjusted to fit the rack. The back end uses three
screws.

g. Repeat Steps a through f with the second outer slide rail.
Chapter 3 Rackmounting the Brocade SilkWorm 3900 Switch 19



Installing the Brocade SilkWorm 3900
Switch

1. Install the 3900 switch in the rack by performing the following steps.

a. Position the 3900 switch next to the rack as shown in FIGURE 3-3, and insert the
inner slide rails into the outer slide rails.

b. Slide the 3900 switch into the rack.

Note – A screw driver might be needed to depress the slide lock on the side of the
slide rail when inserting or removing the 3900 switch from the rack.

c. Check alignment by sliding the switch in and out of the rack.

If there is any difficulty, pull the switch out of the rack and realign the slide rails.

2. Attach the rackmount brackets to the vertical rack rails using one Phillips 10-32 x
3/8-inch screw per bracket, tightening the screws to a torque of 25 inch-pounds
(28.8 cm-kgs). See FIGURE 3-3.

3. (Optional) Provide power to the 3900 switch by performing the following steps.

a. Place the power cord clips on the outer slide rails. See FIGURE 3-3.

The clips can be positioned with the tabs above or below the rail.

b. Insert the power cords into the power cord clips with a minimum service loop
of six inches at the switch to ensure freedom to plug and unplug the power
cord.

Caution – Do not plug a power cord into the power source or into the switch power
supply until the switch is completely installed in the rack.

Ensure all cables and cords are routed so that they will not be exposed to stress
when the switch is moved on the slide rails.

c. Connect the power cords to the 3900 switch and to a power outlet.

Note – Always unplug the power cords from the 3900 switch before moving it on
the slide rails to prevent the cords from being pulled out of the power cord clips.
20 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



d. Flip the 3900 switch AC power switches to “I”.

The 3900 switch automatically performs a power-on self-test (POST).

Refer to the following for important information on setting up the switch:

■ Brocade Fabric OS Procedures Guide, Supporting Fabric OS v4.2.0, Supporting
SilkWorm 24000, 12000, 3900, 3850, and 3250, 53-0000518

■ Brocade SilkWorm 3900 QuickStart Guide, 53-0001596

■ Brocade SilkWorm 3900 Hardware Reference Manual, 53-0001595

Caution – Do not connect the 3900 switch to the network until the IP addresses are
correctly set.
Chapter 3 Rackmounting the Brocade SilkWorm 3900 Switch 21



22 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



CHAPTER 4

Rackmounting the Brocade
SilkWorm 12000 and 24000 Directors

The Brocade SilkWorm 12000 and 24000 directors require that the rails be mounted
into the Sun Rack 900/1000, Sun StorEdge 72-inch Expansion Cabinet, or Sun Fire
cabinet before installing the directors. Each 12000 and 24000 director comes with a
rackmounting kit.

The 12000 and 24000 directors each have a 14 RU (rack unit) height.

This chapter contains the following sections:

■ “Rackmounting in the Sun Rack 900/1000” on page 24

■ “Installing the Rails” on page 24

■ “Installing the Brocade SilkWorm 12000/24000 Director” on page 28

■ “Rackmounting in the Sun StorEdge 72-Inch Expansion Cabinet and the Sun Fire
Cabinet” on page 34

■ “Installing the Rails” on page 34

■ “Installing the Brocade SilkWorm 12000/24000 Director” on page 39
23



Rackmounting in the Sun Rack 900/1000
Each Brocade SilkWorm 12000 and 24000 director comes with a rackmounting kit
that contains two mounting rails and two sets of mounting rail brackets. One set is
for the Sun Rack 900/1000 and the other for both the Sun StorEdge 72-Inch
Expansion cabinet and the Sun Fire sabinet.

Installing the Rails
One of two Sun Rack 900/1000 mounting rails and brackets are shown in FIGURE 4-1.
The 12000/24000 director will rest on the mounting rail ledge.

FIGURE 4-1 Mounting Rail Assembly (One of Two) for Sun Rack 900/1000

1. Assemble the mounting rail and the mounting rail bracket as shown in FIGURE 4-1.

Attach the mounting rail bracket such that its flange faces the opposite direction
from the mounting rail ledge. Do not tighten the four 10-32 x 3/8-in. flat-head
screws.

Mounting rail

Mounting rail bracket

Mounting rail ledge

Mounting rail flange

Mounting rail
bracket flange

(Sun Rack 900/1000)

10-32 x 3/8-in. flat-head screws
24 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-2 Attaching the Mounting Rail Flange to the Cabinet

2. Place the mounting rail assembly with the mounting rail flange in the front of the
cabinet and the rail ledge facing inward.

The rail must be in the lowest possible position of the Sun Rack 900/1000. The mounting
rail flange attaches to the outside of the cabinet vertical mounting surface as shown in
FIGURE 4-2. Tighten the six M6 x 12 mm pan-head screws of each mounting rail flange to
a torque of 25 inch-pounds (28.8 cm-kgs).

Front of Sun Rack 900/1000

Vertical mounting surface

Mounting rail ledge

Flange attaches to
outside of the
vertical mounting
surface

M6 x 12 mm pan-head screws
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 25



FIGURE 4-3 Attaching the Mounting Rail Bracket Flange to the Cabinet

3. In the back of the cabinet, attach the mounting rail bracket flange to the inside of
the cabinet vertical mounting surface.

Tighten the two 10-32 x 1/2-in. pan-head screws of each mounting rail bracket flange to
a torque of 25 inch-pounds (28.8 cm-kgs).

Back of Sun Rack 900/1000

Flange attaches to
inside of the
vertical mounting
surface

Vertical mounting surface

10-32 x 1/2-in. pan-head screws
26 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-4 Securing the Mounting Rail to the Mounting Rail Bracket (One of Two)

4. Secure the mounting rail to the mounting bracket by tightening the four screws to
a torque of 25 inch-pounds (28.8 cm-kgs) as shown.

Make sure the screw heads are flush with the mounting rail.

5. Repeat Steps 1 through 4 for the other rail assembly.

Back of Sun Rack 900/1000
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 27



Installing the Brocade SilkWorm 12000/24000
Director

FIGURE 4-5 Removing the Front Door of the Director

1. To remove the 12000 or 24000 director door, perform the following steps:

a. Open the door and locate the spring hinge pins on the left side.

b. Press down on the lower spring hinge pin to release it and press up on the
upper spring hinge pin to release it.

It might be helpful to use a screwdriver to pry the hinge pins.

c. Pull the door out to remove it.
28 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-6 Use Four People to Help the Director on the Hand Truck

2. Bring a hand truck up to the front of the director.

3. Use four people to pivot the director on its back edge and slide the hand truck
forks under the director to support it.

Caution – The Brocade Silkworm 12000 and 24000 directors weigh approximately
250 pounds (113.4 kg).

Front of Brocade SilkWorm 12000/24000
director with front door removed
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 29



FIGURE 4-7 Ready to Install the Director into the Sun Rack 900/1000

The Brocade SilkWorm 12000/24000 director is installed into the back of the Sun
Rack 900/1000 with the front of the director facing the back of the cabinet.

4. Use the hand truck to position the director on the mounting rail ledges.

Back of Sun Rack 900/1000
30 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-8 Installing the Director into the Sun Rack 900/1000

5. Push the director to slide it all the way into the cabinet.

Make sure the director clears any loose cables.

Brocade SilkWorm
12000/24000 director
mounting flange
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 31



FIGURE 4-9 Securing the Director to the Sun Rack 900/1000

The Brocade SilkWorm 12000/24000 director mounting flange holes must line up
with the Sun Rack 900/1000 vertical mounting surface holes.

6. Tighten the ten M6 x 12 mm pan-head screws to a torque of 25 inch-pounds (28.8
cm-kgs) on each side of the director mounting flange to the vertical mounting
surface of the cabinet.

Note – Do not replace the director front door.

7. To ensure the proper cooling air flow, remove any filler panels on the front of the
cabinet that are directly in front of the director.

M6 x 12 mm pan-head screws
32 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-10 Attaching the Power Cords to the Brocade SilkWorm 12000/24000 Director

8. (Optional) Provide power to the 12000 or 24000 director.

Refer to the following for information:

■ Brocade Fabric OS Procedures Guide, Supporting Fabric OS v4.2.0, Supporting
SilkWorm 24000, 12000, 3900, 3850, and 3250, 53-0000518

■ Brocade SilkWorm 12000 QuickStart Guide, 53-0000152

■ Brocade SilkWorm 12000 Hardware Reference Manual, 53-0000148

■ Brocade SilkWorm 24000 QuickStart Guide, 53-0000620

■ Brocade SilkWorm 24000 Hardware Reference Manual, 53-0000619

Caution – Do not connect the 12000 or 24000 director to the network until the IP
addresses are correctly set.

One of two power cords
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 33



Rackmounting in the Sun StorEdge
72-Inch Expansion Cabinet and the Sun
Fire Cabinet
Each Brocade SilkWorm 12000 and 24000 director comes with a rackmounting kit
that contains two mounting rails and two sets of mounting rail brackets. One set is
for the Sun Rack 900/1000 and the other for both the Sun StorEdge 72-Inch
Expansion cabinet and the Sun Fire cabinet.

Installing the Rails
One of two Sun StorEdge 72-Inch Expansion Cabinet and Sun Fire cabinet mounting
rails and brackets are shown in FIGURE 4-11. The 12000/24000 director will rest on the
mounting rail ledge.
34 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-11 Mounting Rail Assembly (One of Two) for Sun StorEdge 72-Inch Expansion Cabinet and Sun
Fire Cabinet

1. Assemble the mounting rail and mounting rail bracket as shown in FIGURE 4-11.

Tighten the four 10-32 x 3/8-in. flat-head screws to a torque of 25 inch-pounds (28.8
cm-kgs). Make sure the screw heads are flush with the mounting rail.

Mounting rail

Mounting rail ledge

Mounting rail flange
Mounting rail bracket
(Sun StorEdge 72-Inch
Expansion Cabinet and
Sun Fire Cabinet)

Slots used for Sun
StorEdge 72-Inch
Expansion Cabinet

Slotted holes used
for Sun Fire Cabinet

10-32 x 3/8-in. flat-head screws

Mounting rail lugs
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 35



FIGURE 4-12 Installing Two Screws Before Installing the Mounting Rail

2. Partially install two of the 10-32 x 1/2-in. pan-head screws as shown in the cabinet
vertical mounting surfaces.

The top mounting rail lug and either the top mounting rail bracket slot (in the case
of the Sun StorEdge 72-Inch Expansion Cabinet) or the top mounting rail bracket
slotted hole (in the case of the Sun Fire cabinet) will slide onto these screws. The
screws must be positioned such that the mounting rail will be in the lowest possible
position in the cabinet.

Back of cabinet

10-32 x 1/2-in. pan-head screw

Sun StorEdge 72-Inch Expansion Cabinet shown

Cabinet
vertical
mounting
surface
36 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-13 Positioning the Mounting Rail (One of Two) in the Cabinet

3. Place the mounting rail assembly as shown and slide the rail to fully engage the
two screws in the mounting rail lug and the mounting rail bracket slot (for the
Sun StorEdge 72-Inch Expansion Cabinet) or the bracket slotted hole (for the Sun
Fire cabinet). See FIGURE 4-11 and FIGURE 4-13.

The mounting rail flange attaches to the outside of the cabinet vertical mounting surface.

4. Install the remaining two 10-32 x 1/2-in. pan-head screws and tighten all four to a
torque of 25 inch-pounds (28.8 cm-kgs).

10-32 x 1/2-in. pan-head screws

Sun StorEdge 72-Inch Expansion Cabinet shown

Screw
installed in top
mounting rail
lug

Cabinet
vertical
mounting
surface

Mounting
rail flange
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 37



FIGURE 4-14 Attaching the Mounting Rail Flange (One of Two) to the Cabinet

5. Secure the mounting rail flange in the front of the cabinet with six 10-32 x 1/2-in. pan-
head screws.

Tighten the six 10-32 x 1/2-in. pan-head screws of each mounting rail flange to a torque
of 25 inch-pounds (28.8 cm-kgs). Repeat for the other rail.

6. Repeat Steps 1 through 5 for the other rail assembly.

Mounting rail
flange attaches to
the outside of the
vertical mounting
surface

10-32 x 1/2-in. pan-head screws

Sun StorEdge 72-Inch Expansion Cabinet shown
38 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Installing the Brocade SilkWorm 12000/24000
Director

FIGURE 4-15 Removing the Front Door of the Director

1. To remove the 12000 or 24000 director door, perform the following steps:

a. Open the door and locate the spring hinge pins on the left side.

b. Press down on the lower spring hinge pin to release it and press up on the
upper spring hinge pin to release it.

It might be helpful to use a screwdriver to pry the hinge pins.

c. Pull the door out to remove it.
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 39



FIGURE 4-16 Use Four People to Help the Director on the Hand Truck

2. Bring a hand truck up to the front of the director.

3. Use four people to pivot the director on its back edge and slide the hand truck
forks under the director to support it.

Caution – The Brocade Silkworm 12000 and 24000 directors weigh approximately
250 pounds (113.4 kg).

Front of Brocade SilkWorm 12000/24000
director with front door removed
40 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-17 Ready to Install the Director into the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire
Cabinet

The Brocade SilkWorm 12000/24000 director is installed into the back of the cabinet
with the front of the director facing the back of the cabinet.

4. Use the hand truck to position the director on the mounting rail ledges.
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 41



FIGURE 4-18 Installing the Director into the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire Cabinet

5. Push the director to slide it all the way into the cabinet.

Make sure the director clears any loose cables.
42 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



FIGURE 4-19 Securing the Director to the Sun StorEdge 72-Inch Expansion Cabinet or the Sun Fire Cabinet

The Brocade SilkWorm 12000/24000 director mounting flange holes must line up
with the cabinet vertical mounting surface holes.

6. Tighten the ten 10-32 x 1/2-in. pan-head screws to a torque of 25 inch-pounds (28.8
cm-kgs) on each side of the director mounting flange to the vertical mounting
surface of the cabinet.

Note – Do not replace the director front door.

7. To ensure the proper cooling air flow, remove any filler panels on the front of the
cabinet that are directly in front of the director.

10-32 x 1/2-in. pan-head screws
Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide 43



FIGURE 4-20 Attaching the Power Cords to the Brocadc SilkWorm 12000/24000 Director

8. (Optional) Provide power to the 12000 or 24000 director.

Refer to the following for information:

■ Brocade Fabric OS Procedures Guide, Supporting Fabric OS v4.2.0, Supporting
SilkWorm 24000, 12000, 3900, 3850, and 3250, 53-0000518

■ Brocade SilkWorm 12000 QuickStart Guide, 53-0000152

■ Brocade SilkWorm 12000 Hardware Reference Manual, 53-0000148

■ Brocade SilkWorm 24000 QuickStart Guide, 53-0000620

■ Brocade SilkWorm 24000 Hardware Reference Manual, 53-0000619

Caution – Do not connect the 12000 or 24000 director to the network until the IP
addresses are correctly set.
44 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004



Index
NUMERICS
12000 and 24000 directors

height, 23
setting IP adresses, 33, 44
weight, 29

3200, 3250, and 3850 switches
height, 1
setting IP addresses, 7

3800 switch
height, 9
setting IP address, 14

3900 switch
height, 15
setting IP address, 21
vertical positioning, 16

A
accessing Sun documentation, xi
air flow requirements, vii

C
comments on manual, xii
contacting Sun technical support, xi

H
height (rack units)

12000 and 24000 directors, 23
3200, 3250, and 3850 switches, 1
3800 switch, 9
3900 switch, 15

I
IP address setting, 7, 14, 21, 33, 44

M
manual, submitting comments, xii

P
power cord service loop, 6, 13, 20

R
rackmounting kit

Brocade SilkWorm 3200, vii
Brocade SilkWorm 3250 and 3850, vii

Related Documentation, x
45



S
service loop, power cord, 6, 13, 20
setting IP addresses, 7, 14, 21, 33, 44
shell prompts, viii
submitting comments, xii
Sun

documents accessing, xi
technical support, xi

T
technical support, xi
typographic conventions, ix

U
UNIX Commands, viii
46 Brocade Silkworm 3200, 3250, 3800, 3850, 3900, 12000, and 24000 Switches Rackmounting Guide • October 2004


	Contents
	Figures
	Preface
	How This Book Is Organized
	Using UNIX Commands
	Shell Prompts
	Typographic Conventions
	Related Documentation
	Accessing Sun Documentation
	Third-Party Web Sites
	Contacting Sun Technical Support
	Sun Welcomes Your Comments

	Rackmounting the Brocade SilkWorm 3200, 3250, and 3850 Switches
	Installing the Rails
	Installing the Brocade SilkWorm 3200, 3250, and 3850 Switches

	Rackmounting the Brocade SilkWorm 3800 Switch
	Installing the Rails
	Installing the Brocade Silkworm 3800 Switch

	Rackmounting the Brocade SilkWorm 3900 Switch
	Installing the Rails
	Installing the Brocade SilkWorm 3900 Switch

	Rackmounting the Brocade SilkWorm 12000 and 24000 Directors
	Rackmounting in the Sun Rack 900/1000
	Installing the Rails
	Installing the Brocade SilkWorm 12000/24000 Director

	Rackmounting in the Sun StorEdge 72-Inch Expansion Cabinet and the Sun Fire Cabinet
	Installing the Rails
	Installing the Brocade SilkWorm 12000/24000 Director


	Index

